EARAROBEEIERT — 2 N— IBISH —F

2018108170 (k) 8mIIiE3H

EEss57 B3= v5%—#%

‘ (%] 8 ‘ [EsmEl  — | & (B) 15000 &

[A&E£] 17 :2,400,000 § ~ 23 :960,000 @ 3 7 :600,000 §

4 7% 1360,000 F . 5 3& : 240,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N s KEHE :35. —5-3— . — SHREM (1115)
1 NEXPELE RS e [ R Y [
RiAfavk—5— B:vA4T7vF%— T EAtE
_ N S 7S .35, 77— 9| — =)
olalo|Fr—x2/—70 £ 6 o 1(13/52)7 8-7-7-6 | 39.9 7 (4+474) i
R:A—Y X224 B:YIINI =TI R FER S
- 4 5 | mEY 1:35.7 6-6-5-3 |40.1| — 4 476 | BAE— (I1#)
3Ry 3|/ —E=—T 5.0 (76 G4y | BT ERE
LiN—UFNTya BiFavTeA4I> PualE il
N EFREA : 01— — migs— (1)
AT T i 7 Bl 17351:? 2-2-1-1 | 40.7 5 (4_411) it
LY IRG ISR B:RAXH /A a— 75 Kis
L ASE . # 5 | SEHEK 1:36.1 3-4-4-3 | 40.8| — 2 511 | MRB&Z (J11IE)
508110 YA TXx YR 54.0 (1 1/2) (+2) (%) Fr>EF>XT7— L
LHIRT4 TR B rT—Fy X BORMS
. = RR :37. —8-8- . - FE—% (@)
6lzlg| 77 1>51+— H o6 & 1(367)3 7-8-8-8 | 40.3 10 (4_534) e
L:Tv TRy b BAvnIud & RS
— v . FRiEZ : -9-0— — IR S )
71l Yv=>ny k> o6 | TR 1.(327>.7 9-9-9-9 | 40.4 8 (5;3) el
LT RIAYT Yy IR BivwIrsa7-0 BEE  {fiBh
: L r— . Bl _ SEAHE (HH)
8l5ls|F>a—s70 6 o 1(.33/(4.)9 10-9-10-10 | 40.4 9 <5+150) Z#%—
L:€r/0704 BNAHy I HAIE
s R # o5 | HmEEK 1:38.0 1-1-1-5 | 43.0| — 3 520 | POEREE (J111&)
9/1[1| FU—LAE—FK 56.0 (172) (25) | MEET
RTITRAFIEIN BRI —LLA K- l=iorie ]
S Sy =t el |5 :38. —3-5- . - =SRAE— (&)
1o 6| F-Fv hF>Fq "ol o AR R A S Bl s g
L Z2ZAp= R BRYUNYY F5 L Kie
I # 4 | HTHER — - - — — 462 | FHRE— (1)
% 2 _'j-\ v I\ 54.0 (R&44) (45) () REHEZE
R:HIYRT4TFRX B:gZ/EHCT EEHS
® I —F—@EBIERL
1d—7+— 1,7,(6,10),4,3,8,9,11,5
23—7— |[1,7,6,10,4,3,9,8,(5,11)
ga=7"= (1,7),4,10,(3,6),9,8,11,5
40—+ — 7,4,(3,10),1,9,6,8,11,5
[ N3
BB 4 180H4 714K 4-9 870M % E 4-7 3,520H 3EHE 3-4-9 3,470
8 B 4 110 3-4 280M B 4-7 4,500M K31 4-9-3 20,2004
9 410M 3-9 1,260M B E 4-9 3,410
3 1804 B H 4-9 4,360

ABICOVWTRDTEEERROODE. TR LIV,




